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1. Introduction
In RAN2#97, the following was agreed.
	Agreements
1	We will aim to define HO for NR with an interruption as close to zero as possible while only having single Tx/Rx in the UE, and 0ms interruption at least for the case that the UE supports simultaneous Tx/Rx with source cell and target cell during HO


And RAN2#97bis has made common sense as following:
=>	We will progress handover with 0ms interruption with dual tx/rx targeting to define a single solution. Discussion of this can start when basic DC operation is more stable

Based on the above agreement and the difficulties which might occur on designing HO mechanism for both cases i.e., single Tx/Rx case and simultaneous Tx/Rx case in parallel we prefer the priority on the baseline HO mechanism design. In the case of simultaneous TX/RX with the source and target cell, it is meaningful to accomplish 0 ms interruption time rather than near 0ms. One direction is to use DC which has simultaneous Tx/RX and dual stacks. The latter is better to be used due to low standardization effort since already basic operations are standardized and these might be reused for HO solution. In this contribution, we consider the problem to be tackled on considering DC for handover enhancement.

2. DC 1A (MCG-SCG bearer) case
In this case, bearer level split is used. Therefore, data stream which was served by MCG bearer should be switched to SCG bearer at some time, which involves S1-U path switch. Please refer the following figure on SeNB addition procedure from TS 36.300.



Figure 1 SeNB addition procedure in LTE 36.300

[bookmark: _GoBack]After starting forwarding IP packet to PScell MeNB still might transmit the only remaining data stored in buffer of MCG bearer to the UE. In the SCG side, after RACH is completed data can be transmitted to UE from SCG bearer. The problem is that there is no mandatory timing alignment in the specification between the end of transmission in MCG bearer and RACH completion at PScell. If RACH finishes earlier than the end of TX at MCG bearer then UP TX continues without interruption. However, RACH finishes later than the end of TX at MCG there must be UP interruption. This seems to be similar to the single connection HO case. There is also unavoidable interruption between disconnection with source cell and TX/RX resumption with the target cell. Therefore, using DC 1A for 0 ms interruption is not the solution since even using 2 RF chains cannot guarantee 0 ms interruption time.

Observation 1. Using DC as a baseline for making 0 interruption HO has the merit of reusing already existing mechanism.
Observation 2. DC 1A cannot guarantee 0 ms interruption time.
Proposal 1. RAN2 should consider the split bearer case (LTE DC 3c) as a possible solution direction of 0 ms interruption time HO solution for NR.

3. Conclusion 
Based on above discussion, we conclude with the following observations and proposals.
Observation 1. Using DC as a baseline for making 0 interruption HO has the merit of reusing already existing mechanism.
Observation 2. DC 1A cannot guarantee 0 ms interruption time.

Proposal 1. RAN2 should consider the split bearer case (LTE DC 3c) as a possible solution direction of 0 ms interruption time HO solution for NR.
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